
Effective July 18, 2025
Modified July 21, 2025

Parts List 
02Z, 03Z Trim

Item Order Part # Description List Price

1

105641-630 Trim, 02Z, Anti-Vandal $745.20

105649-LHR-630 Trim, 03Z, Anti-Vandal, LHR $745.20

105649-RHR-630 Trim, 03Z, Anti-Vandal, RHR $745.20

2KIT 105646-2 Kit, 03Z Trim $22.68

2A PP-5066-12 Lockwasher, #12 $1.17

2B 100980 Screw, 1/4-20 x 1 $1.17

2C 101454-1 Tailpiece Assembly, Rim, 03WS $14.74

2D 101480-1 Tailpiece, 03WSN (for 2-1/4" thick door) $5.67

3 100752-9 Cylinder Collar, Tall $49.00

4
ECL-445K-7 Cylinder, 5 Pin Rim $57.00

IC7R-626 Cylinder, 7 Pin Rim $57.00

Your particular part or configuration may not be shown:
Contact Detex technical support at 800-729-3839 (option 2)

CYLINDER COLLAR, TALL

IC7R-626 CYLINDER, 7 PIN RIM (sold separately)

FOR ITEM 4
"-X" REFERS TO

KEY CODE
AA-KK

ECL-445-7-X CYLINDER, 5 PIN RIM (sold separately)

P/N DescriptionItem

PARTS BREAKDOWN

PP-5066-12
100980

LOCKWASHER, #12
SCREW, 1/4-20 x 1

QTY

105641-630 TRIM, 02Z, ANTI-VANDAL
105649-LHR-630

100752-9

Tools Required:
Safety glasses
Tape measure

Pencil
Hammer

Center punch
Drill

3/8" drill bit
1-1/2" Hole saw  (for 03Z)

3/4" drill bit  (for 03Z)
Screwdriver

2A
supplied with

cylinder

TRIM, 03Z, ANTI-VANDAL, LHR
105649-RHR-630 TRIM, 03Z, ANTI-VANDAL, RHR

1

2KIT

1

1
2
4

101454-1 TAILPIECE ASSEMBLY, RIM, 03WS1
101480-1 TAILPIECE, 03 WSN   (for 2-1/4" thick door)1

2A
2B
2C
2D

105646-2 KIT, 03Z TRIM

13

4 1

2C

2KIT

2B

2D

4

1

3

1

02Z 03Z

2B

104866   Page 2


